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Remember, this should not be used as your primary tool of studying. Make sure you’re reading the assigned chapters as well as the lecture notes. 
The real exam will also have 50 multiple choice questions. You have the entire 1 hour and 15 minutes to take it.
Chapter 5
Chapter 7
1.) Which is NOT a reason IQ tests are culturally biased? 
a.) Standardized intelligence test may reflect white, middle-class cultural knowledge. 
b.) Cultural differences may be involved in test-taking behavior. 
c.) It is possible to create a test that is completely culture-free, but it would cost too much money.
d.) Minorities may not be familiar with the white, middle-class culture the tests are based on.
2.) In the experiment “Little Albert” by B.F. Skinner and Rosalie Rayner, what was the unconditioned stimulus?
	a.) The white rat 				c.) Fear of other white fluffy things
	b.) Fear of the white rat 			d.) The loud noise 
3.) In the experiment “Pavlov’s Dogs” by Ivan Pavlov, what was the conditioned response? 
	a.) The food 					c.) Salivating to the food
	b.) Salivating to the bell				d.) The bell
4.) George meets his sister’s boyfriend, who has long hair, and is wearing sandals and sunglasses, despite the fact that they live in Minnesota. George assumes he is from California. What is this an example of? 
	a.) Mental set 					c.) Functional fixedness
	b.) Representative heuristic 			d.) Availability heuristic
5.) Stacy got sick one morning when she ate her favorite cereal. Now, she gets sick whenever she sees that specific brand of cereal. However, she can eat other brands of cereal and feel fine. What is this an example of? 
	a.) Stimulus discrimination			c.) Stimulus generalization   
	b.) Unconditioned response			d.) Specificity   

6.) Which of the following is NOT a problem solving strategy? 
	a.) Trial and error				c.) Mental set  
	b.) Algorithm					d.) Heuristic 
7.) Who was the first person to study classical conditioning? 
	a.) Ivan Pavlov 					c.) Edward Thorndike 
	b.) B.F. Skinner					d.) Albert Bandura 
8.) Tabitha was unable to think that her paper clip could be used to help pick the lock on her door. This is an example of: 
	a.) Mental set 					c.) Heuristic 
	b.) Functional fixedness 				d.) Additive model 
9.) Which of the following is NOT a characteristic of language? 
	a.) Requires symbols 				c.) Is generative 
	b.) Has unique syntax 				d.) It’s not creative 
10.) ____ is unconscious, whereas _____ is conscious. 
	a.) Intuition; insight 				c.) Insight; intuition 
	b.) An algorithm; problem-solving		d.) Problem-solving; classical conditioning
11.) Michelle spanks her son so he will stop misbehaving. This is an example of: 
	a.) Positive punishment 				c.) Positive reinforcement 
	b.) Negative punishment 			d.) Negative reinforcement 
12.) Larry knows his daughter will not do her math homework. He tells her he will reward her after completing each question. This is an example of: 
	a.) Classical conditioning 			c.) Shaping
	b.) Law of effect				d.) Trial and error 
13.) When someone needs to make a decision involving a high degree of uncertainty, what technique is most often used to estimate the probability of an event occurring? 
	a.) Trial-and-error and the additive model.	
	b.) Elimination by aspect model and the single-feature model. 
	c.) Availability heuristic and representative heuristic. 
	d.) Insight, intuition, mental sets, and guesswork. 

14.) In “Little Albert”, Albert developed of a fear of all white fluffy things. This is an example of: 
	a.) Shaping					c.) Stimulus discrimination 
	b.) Stimulus generalization  			d.) Operant conditioning 
15.) You’re less likely to imitate: 
	a.) Warm, nurturing people. 				
	b.) A task when it is not extremely easy or difficult. 
	c.) People who are very different from you.
	d.) People you perceive as having higher social status than you.
16.) Dan is a strong believer in telepathic communication. Whenever something happens that confirms his belief, he accepts it. If someone shows him something that disproves his belief, he ignores or denies it. This is known as: 
	a.) Confirmation bias 				c.) Belief-bias 
	b.) Fallacy of positive instances 			d.) Overestimation 
17.) According to the _____ model developed by _____, behavior is shaped and maintained by its environmental consequences
	a.) Classical conditioning; John B. Watson 	c.) Operant conditioning; B.F. Skinner
	b.) Classical conditioning; Edward Thorndike	d.) Operant conditioning; Ivan Pavlov
18.) If a drug addict shoots up in a strange environment, he is more likely to die from an overdose. What is this an example of? 
	a.) Operant conditioning 			c.) Shaping 
	b.) Classical conditioning			d.) Extinction 
19.) Joe tends to search for information that only supports his belief, and makes little effort to search for any evidence that disproves his belief. This is known as: 
	a.) Confirmation bias 				c.) Belief-bias
	b.) Fallacy of positive instances			d.) Overestimation  
20.) Noel is an avid coffee drinker. Just smelling coffee makes her feel more awake. This is known as a(n):
	a.) Addiction 					c.) Operant
	b.) Conditioned stimulus			d.) Placebo response 


21.) Behaviors that are conditioned using _____ reinforcement are more resistant to extinction than behaviors that are conditioned using _____ reinforcement. 
	a.) Partial; continuous				c.) Continuous; partial  
	b.) Negative; positive 				d.) No; some
22.) Cindi and Beth are both taking a difficult math test. Before the test, Cindi’s friend told her that males usually do better on math tests. Beth was not told anything before taking the test. What would you predict about Cindi and Beth’s scores on the math test? 
	a.) Because of stereotype lift, both Beth and Cindi will score lower than male students. 
	b.) Because of stereotype threat, Cindi’s score will be lower than male students, but Beth’s 		      score will be about the same.
	c.) Because of stereotype lift, both Beth and Cindi will score about the same. 
	d.) Because of stereotype threat, Cindi will score higher than male students, but Beth will score 		      lower. 
23.) What does the abbreviation FI-20 indicate? 
	a.) A reinforcement is given every 20 minutes.
	b.) A reinforcement is given every 20 times a behavior is displayed. 
	c.) A reinforcement is given after an average of 20 minutes. 
	d.) A reinforcement is given 20 times. 
24.) What is the neutral stimulus in “Little Albert”? 
	a.) The white rat 				c.) The loud noise 
	b.) Crying at the white rat 			d.) Being scared of all white fluffy things  
25.) Which of the following is an example of a fixed ratio schedule? 
	a.) Savannah gets $10 for every hour she works.
	b.) Krya gets $100 every 4 times she raises her hand.
	c.) Taylor sleeps on average 8 hours a day.
	d.) Bruno answers the phone on the 3rd or 4th ring 
26.) Which of the following is NOT true about ASL? 
	a.) It meets all the formal requirements for language.
	b.) The same regions of the brain are activated in hearing people who speak and people when 	 	      they use ASL.
	c.) Similarities between spoken language and ASL have been confirmed by brain-imaging.  
	d.) ASL users do not use syntax. 
27.) Shelly’s dog Spot learned to catch a Frisbee by watching another dog catch one. This is an example of: 
	a.) Shaping		 			c.) Reinforcement 
	b.) Operant conditioning 			d.) Observational learning 
28.) Which of the following is NOT an example of an algorithm? 
	a.) A math equation 				c.) Following a recipe 
	b.) Making an educated guess			d.) Doing something step-by-step 
29.) ______ studied observational learning through his “bobo doll” experiment.  
	a.) Albert Bandura 				c.) B.F. Skinner
	b.) Ivan Pavlov					d.) Edward Thorndike 
30.) What are the two-stages in the two-stage model of intuition? 
	a.) Guiding and insight				c.) Generative and displacement 
	b.) Intuition and insight 				d.) Guiding and integrative 
31.) Which of the following is NOT true about classical conditioning? 
a.) It accounts for reflexive behaviors. 		
b.) It is an example of how punishment and reinforcement can shape behavior. 
c.) It associates two stimuli.
d.) It explores an association formed between a particular stimuli and response.
32.) My mom thinks people who drive sports cars are more likely to get pulled over, because they’re usually loud and fast. This is an example of: 
	a.) Belief-bias 					c.) Representative heuristic 
	b.) Trial and error				d.) Availability heuristic 
33.) In the experiment “Pavlov’s Dogs”, the ringing of the bell is the ______ before conditioning and the _____ after conditioning. 
	a.) Conditioned stimulus; neutral stimulus 
	b.) Unconditioned stimulus; conditioned stimulus 
	c.) Neutral stimulus; conditioned stimulus 
	d.) Neutral stimulus; conditioned response 


34.) Which of the following is NOT true about the Whorfian hypothesis? 
	a.) It claims that language does not determine thought.
	b.) It is also known as the linguistic relativity hypothesis.
	c.) It claims that language determines the very structure of thoughts and perceptions.
	d.) The claims made by Whorf have not been supported.
35.) A slot machine changes how many times the lever needs to be pulled every time there is a win. This is an example of: 
	a.) Variable ratio				c.) Fixed ratio 		
	b.) Variable interval 				d.) Fixed interval 
36.) Henry is making a new sauce, and tries one combination of ingredients at a time, adding seasoning as he goes. What strategy is Henry using? 
	a.) The working backwards heuristic 		c.) The single-feature algorithm 
	b.) The additive model 				d.) The trial-and-error strategy 
37.) Wanda is planning a trip to go skiing, but doesn’t have a winter coat. She decides to buy the cheapest one, regardless of looks or warmth. What strategy is Wanda using?
	a.) Additive model 				c.) Elimination by aspect model 
	b.) Single-feature model 			d.) Insight and intuition 
38.) John is 3 years old and loves playing with balloons. One day John was playing with a red balloon and it popped. The loud noise upset him and he cried. Ever since that day, whenever he sees a red balloon, he starts to cry. What is the unconditioned response? 
	a.) Crying when the balloon popped 		c.) Crying when he sees a balloon 
	b.) The red balloon				d.) The loud popping noise 
39.) Which term is used to refer to the combining of words in a particular language? 
	a.) Generative 					c.) Syntax 
	b.) Displacement 				d.) Exemplar 
40.) Isaac solved a math problem on his homework last night. The next night, he had to solve a similar math problem and approached it the same way, even though there was an easier solution. What is this an example of? 
	a.) Mental set 					c.) Functional fixedness 
	b.) Representative heuristic 			d.) Availability heuristic 

41.) Kevin takes away his son’s video games so he will do the dishes. This is an example of: 
	a.) Positive punishment 				c.) Positive reinforcement
	b.) Negative punishment 			d.) Negative reinforcement  
42.) Which of the following is NOT an advantage of being bilingual? 
	a.) People who are bilingual are better at controlling attention. 
	b.) They are better at switching attention to new stimuli when needed. 
	c.) They have a hard time differentiating between similar words in different languages.
	d.) They are better at taking the perspective of others.
43.) Ellen gives her daughter a star every time she completes a chore. This is an example of: 
	a.) Positive punishment 				c.) Positive reinforcement 
	b.) Negative punishment 			d.) Negative reinforcement 
44.) Randy heard about a terrible roller coaster accident that injured everyone on it. Now, she refuses to let her son ride roller coasters. This is an example of what? 
	a.) Mental set 					c.) Functional fixedness 
	b.) Representative heuristic 			d.) Availability heuristic 
45.) What does generativity say about language? 
	a.) Language can generate an infinite number of new and different phrases and sentences. 
	b.) Language can be communicated meaningfully.
	c.) Language can be arbitrary.
	d.) Language always has meaning. 
46.) According to Edward Thorndike, behavior that is followed by a pleasant consequence is likely to be repeated, and any behavior followed by an unpleasant consequence is likely to be stopped. This is known as: 
	a.) Stimulus generalization 			c.) Classical conditioning 
	b.) Law of effect 				d.) Shaping
47.) Janette is talking to her mom about her friend Joe, and a minute later Joe knocks on her door. Janette often thinks about that time, but doesn’t think about all the times she talked about her friend Joe and he didn’t appear. What is this an example of? 
	a.) Confirmation bias 				c.) Belief-bias 
	b.) Fallacy of positive instances			d.) Overestimation 
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48.) Who pioneered the application of classical conditioning to advertising? 
	a.) B.F. Skinner					c.) Ivan Pavlov
	b.) John Watson				d.) Edward Thorndike  
49.) Most students think it’s unlikely that 2 people in a class size of 23 will share the same birthday. In reality, the odds are 1 in 2. What are these students demonstrating? 
	a.) Confirmation bias 				c.) Belief-bias 
	b.) Fallacy of positive instances			d.) Overestimation 
50.) Tony tells his son he can’t watch TV if he behaves badly. This is an example of: 
	a.) Positive punishment 				c.) Positive reinforcement 
	b.) Negative punishment 			d.) Negative reinforcement
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